PRT [Without Physical Education]

Q 1). Give name of the operation launched by Indian Army recently to ensure smooth and
hassle-free Amarnath Pilgrimage.

(A) Operation Kedar

(B) Operation Shiva

(C) Operation Nath

(D) Operation Amar

Correct Answer: (B)

Q 2). Whom did Brazil honour with its highest civilian award, the Grand Collar of the
National Order of the Southern Cross recently?

(A) Shri Amit Shah

(B) Shri Raj Nath Singh

(C) Dr. S. Jaishankar

(D) Shri Narendra Modi

Correct Answer: (D)

Q 3). Which country hosted the International Conference on Glaciers’ Preservation in 20257

(A) India

(B) Canada

(C) Tajikistan

(D) Uzbekistan

Correct Answer: (C)

Q 4). Closing Statement and Introductory Statement are the components of which of the
following?

(A) Explanation Skill

(B) Questioning Skill

(C) Reinforcement Skill

(D) Stimulus Variation Skill

Correct Answer: (A)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior

(B) Praising a child for completing homework

(C) Removing TV privileges for poor grades

(D) Ignoring a child's tantrum

Correct Answer: (B)

Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)

Q 7). Which of the following does cause a deficiency disease?

(A) They are caused due to lack of nutrients in our diet.

(B) They are caused by germs.

(C) Inherited from parents.

(D)Can be cured by eating lot of dry fruits alone.

Correct Answer: (A)
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Q 8). During which months do honey bees lay their eggs?
(A) December to January

(B) March to May

(C) February to July

(D) October to December

Correct Answer: (D)

Q 9). The upper most layer of the earth is known by which name?
(A) Outer Core

(B) Inner core

(C) Mantle

(D) Crust

Correct Answer: (D)

Q 10). Ghee and butter are the rich source of which of the following?
(A) Protein

(B) Fat

(C) Carbohydrate

(D) Minerals

Correct Answer: (B)

Q 11). Which one the following is the basic life support system?
(A) Music System

(B) Environment

(C) Transportation

(D) Communication

Correct Answer: (B)

Q 12). Cultivation of Grapes is knownas_

(A) Viticulture

(B) Horticulture

(C) Agriculture

(D) Sericulture

Correct Answer: (A)

Q 13). Who is the father of the Indian Constitution?
(A) Mahatma Gandhi

(B) Jawahar Lal Nehru

(C) Dr. B.R. Ambedkar

(D) Atal Bihari Bajpayee

Correct Answer: (C)

Q 14). What is the sum of first 8 natural numbers?
(A) 45

(B) 55

(C) 46

(D) 36

Correct Answer: (D)
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Q 15). Dimensions of a Geometry Box is: Length = 11 cm, Width = 5 cm, Height =2 cm,
then what is the volume of geometry box?

(A) 220 cubic cm

(B) 110 cubic cm

(C) 132 cubic cm

(D) 36 cubic cm

Correct Answer: (B)

Q 16). Laxmi’s father is 49 years old. He is 4 years older than three times Laxmi’s age. What
is Laxmi’s age?

(A) 10 years

(B) 15 years

(C) 5 years

(D) 20 years

Correct Answer: (B)

Q 17). Which of the following is an incorrect example of continuous tense?

(A) She was reading.

(B) They will be coming.

(C) That was a dancing doll.

(D) Rohan is not following bad habits.

Correct Answer: (C)

Q 18). Carefully read the following excerpt summarizing the story, and then answer the
question based on it.

The story “The Best Christmas Present in the World” begins with the author making a
decision about buying an old roll-top desk which is in a bad condition. He had longed for one
since long and he was also confident that he could restore it. Thus, he takes the desk home and
as he starts working on it on the Eve of Christmas, he finds a secret drawer that carried a letter
addressed to some woman named Connie from her husband Jim. It said that it was his last letter
and was dated December 26, 1914. It was written at the time of the war between Germany and
Britain. It enlisted the series of events that followed on the day of Christmas that year 1914 or
“a wonderful thing that happened”, in the words of Jim. He wrote about how the two armies
came together to celebrate the spirit of Christmas despite belonging to enemy nations. They
forgot about their differences for a while and realised that they had much in common. They
shared schnapps, sausages, and rum. The two officers, Jim and Hans Wolf developed a good
bond over a chit-chat. They both were of the view that countries should negotiate peacefully
and resolve conflicts by playing football or cricket. The soldiers played football that day and
when all their supply of food and drinks was finished, they knew it was time to return back to
their own trenches. That night, they exchanged Christmas carols. As Jim tells Connie about the
day in his letter, he assures Connie of their reunion next Christmas. The author, who read this
letter thought he should reach out to Connie. He finds the address mentioned on the envelope
and discovers that the house had been burnt and Connie, a hundred and one years old lady, now
lived in a Nursing home. He visits the Nursing home and hands over the letter to Connie, who
is immensely overjoyed on reading the letter. She misunderstands the author to be her husband
Jim and calls him “The Best Christmas present in the World.”

What event did Jim describe in his letter to Connie?

(A) A battle he won during the war

(B) A peaceful Christmas celebration between enemy soldiers
(C) A failed attempt to negotiate a ceasefire between the armies
(D) The day he returned home from the war

Correct Answer: (B)
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Q 19). TATH AT § Sl “H JTTH! §1d I <t § |7 -1 H X@ifohd eq HIH-IT 82
(A) STH YRY
(B) H&AH ¥
(C) AT
(D) g gdamm
Correct Answer: (B)
Q 20). Frafifad Teuiw ®! tgwx 33 T sgfasedt gy w13 frd |
YRATY el ST &1 o & F0 T ST 31 T 3| 3Tl THTUH BT SR o & 3R
R fear man g1 o &1 diar T8t i S wean 8, S & foar off ahdT §1 I8! SR §
fo St AT enfafte B @ FIA &1 I B arH I3 | A ] |
39 91 & Taf S0 WS ST Fehd © O THST 3 SO i H A1g S ot S @ |,
Hiar- iR YRS 39 ot g8 3Ha FR @ & & uf & O a8t 9 g1 ot T,
SHFERY, T=Ts 3R 3MeATfaTeddl & Jed 94 §U R | 3 <F /%9 U 8, fh 95 TS gU R |
3ot ot 98 TS § UF ol &, AflRanal & M &Rl 8, Fo 3R IR DI TTed JHSIar
2, T DI UIST UG Pl U0 T 5 | 8% SMGHT 30+ AfGaTd sita H 39 §1d &1 34
BT & | FHER Y31 H S YSTER P Ul 31 IR 5, 98 Tg! Wifeid Bl & b &1 LT
ol DI TTAd JHSA § IR AN § 3 dcal B U8 HH ST 918d © off 7Tad deidh o
Y 1 A U H ¢ |
QYT T TSI BT 911 91d a1 ¢ | 105 I8 ATGH 8idl ¢ fob [t & SHTERUT & TTerd
U&f P IgHTfed dr ITH I e ST § 3R Suigure &l UhHT dHacd A fordm STl
21 RS T Y 1 G 910 8, 3BT H I 81 T AR IJoR 7 HAT 3R i 8 a1 g |
Jp sl T T ged) & S8 IR 1 T Aep-fad & 3rdTs & Ufd 33t HIg=T St
gl
A # 3reaTs & Ul st YIaHT $ SN[ &1 o APl 82
(A) 3BT Bl ISR BHRh
(B) AT &) HETYREY & T ot e ape
(C) AT DI TT AFTGRA GbR
(D) AT GRT &1 T8 Tl Bl JURDR

Correct Answer: (A)
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